
! ;]jfsf] ;Gt'li6

!=! gu/kflnsfaf6 kfOg] ;]jfaf6 sltsf] ;Gt'i6 x'g'x'G5 < ;Gt'i6 7Ls} c;Gt'i6

k|ltzt k|tlzt k|ltzt 

34 52 14

17 26 7 34 52 14
!=@ ;]jf lng hfFbf sd{rf/Lsf] Jojxf/k|lt tkfO{ sltsf] ;Gt'li6 

x'g'x'G5 <

;Gt'i6 l7s} c;Gt'i6

6 37 7 12 74 14
!=# ;]jf lng hfFbf hgk|ltlglwsf] Jojxf/k|lt sltsf] ;\Gt'i6 x'g'x'G5 < ;Gt'i6 l7s} c;Gt'i6

3 41 6 6 82 12
@ ;]jfsf] lgoldttf 0 0 0
@=! gful/s a8fkqdf pNn]v ePcg';f/ tkfO{n] k|fKtug'{kg]{ ;]jfdf 

nfu]sf] ;do k|lt slQsf] ;Gt'i6 x'g'x'G5 <

;Gt'i6 7Ls} c;Gt'i6

4 37 9 8 74 18
@=@ sfof{no lgoldt ?kdf - sd{rf/Lsf] pkl:ylt, ;do kfngf, 

sfo{r':ttf _ ;~rfng ePsf] 5 eGg] s'/fdf sltsf] ljZj:t x'g'x'G5 

<

ljZj:t 7Ls} cljZj:t

7 31 12 14 62 24
@=# tkfO{n] ;]jflng hfFbf cltl/Qm /sd ltg{' eof] < lt/]sf] 5}g Psbd} sd w]/} lt/]sf]

50 0 0

100 0 0
@=$ o; sfof{non] ;fj{hlgs rf;f] tyf ;d:of ;dfwfg ug{ cf};t 

slt lbg nufpg] u/]sf] 5 <

! lbg @ lbg w]/} lbg

5 7 38 10 14 76
#  ;]jfk|ltsf] hgljZjf; 0 0 0
#=! gu/kflnsfn] lbg] ;]jfk|lt tkfO{ sltsf] ljZj:t x'g'x'G5 < ljZj:t l7s} cljZj:t

10 32 8 20 64 16
#=@ gu/kflnsfn] k|bfg u/]sf] ;]jfsf] af/]dfc?nfO{ hfgsf/L u/fO{ 

slQsf] k|rf/ ug{' ePsf] 5 <

w]/} 7Ls} u/]sf] 5}g

2 24 24 4 48 48
#=# gu/kflnsfdf sfo{/t sd{rf/L k|lt tkfO{sf] ljZjf; slQsf] 5 < w]/} 7Ls} ljZjf; 

5}g

1 47 2 2 94 4
#=$ gu/kflnsfsf hgk|ltlglw k|lt tkfO{sf] ljZjf; slQsf] 5 < w]/} 7Ls} ljZjf; 

5}g

1 45 4 2 90 8
#=% gu/kflnsfn] ljkGgju{sf] nflu sfo{qmd 5'6\ofPsf] / ;]jf k|of]u 

u/]sf] yfxfkfpg' ePsf] 5 <

5 5}g cln cln 

yfxf 5

4 32 14 8 64 28



$ ;]jfsf] u'0f:t/

0 0 0
$=!  sfo{fnoaf6 ;]jfln+bf sfof{non] lbPsf] hfgsf/Laf6 slQsf] 

;Gt'i6 x'g'x'G5 <

;Gt'i6 sd ;Gt'i6 c;Gt'i6

33 13 4 66 26 8
$=@  tkfO{ o; sfof{nodf cfpFbf s;sf] ;xof]u lng'eof] < cfkm} ufpFsf] 7"nfa8f dWo:yst

f{

50 0 0 100 0 0
$=# o; sfof{nodf tkfO{n] Pp6f sfdsf] nflu slt k6s wfpg' k¥of] 

<

! k6s @ k6s ;f] eGbf 

a9L

24

24 9 17

48 18 34
%= ;]jf ;DaGwL hfgsf/L 

0 0 0
%=! sfof{nosf] ef}ltscj:yf s:tf] 5 < clt /fd|f] 7Ls} g/fd|f]

4 45 1 8 90 2
%=@ sfof{nodf ePsf] gful/s a8fkq af/] tkfO{nfO{ hfgsf/L 5 < 5 cf+lzs 

hfgsf/L 5

s'g} 

hfgsf/L 

5}g

14 13 23 28 26 46
%=# sfof{no / ;]jfuf|xLaLrsf] ;DaGw s:tf] 5 < clt /fd|f] 7Ls} vf;} /fd|f] 

5}g

\ 5 41 4 10 82 8
%=$ gu/kflnsfaf6 ;~rfng ul/g] ;fj{hlgs sfo{qmddf ;LdfGt 

ju{sf] pkl:ylt slt k|ltzt;Dd x'g] u/]sf] 5 <

5 @) k|ltzt %) k|ltzt 

eGbf a9L

yfxf 5}g

27 4 19 54 8 38
%=% gu/kflnsfsf] ljB'tLo ;]jf k|jfx af/] tkfOnfO{ yfxf 5 < yfxf 5 k|of]u 

u/]sf] 5'

yfxf 5 k|of]u 

u/]sf] 5}g

yfx} 5}g 

6 15 29 12 30 58
^ gful/s a8fkq÷ph'/L k]l6sf ÷ u'gf;f] ;'Gg] clwsf/L ;DaGwdf

0 0 0
^=! tkfO{sf] ljrf/df ;]jfu|fxLn] gful/s a8fkqsf] pkof]u s'g 

xb;Dd u/]sf 5g <

w]/} sd u/]sf] 5}g

4 24 22 8 48 44
^=@ tkfO{sf] ljrf/df ;]jfk|bfosx?n] gful/s a8fkq cg'?k slt 

xb;Dd ;]jfk|bfg u/]sf] h:tf] nfU5 <

w]/} l7s} clt sd

4 26 20 8 52 40

0 0 0

^=# tkfO{sf] ljrf/df ph'/L k]l6sfsf] pkof]u s'g xb;Dd ePsf] 5 < w]/} ePsf] 5 7Ls} ePsf] 5 ePsf] 5}g



1 6 43 2 12 86
!  l;kmfl/; ;DaGwL -j8f;+u ;DalGwt_ -v08 @_ 0 0 0
!=! l;kmfl/; lng j8fdf hfFbf cfjZos sfuhftx?sf] k|i6 hfgsf/L 

kfpg' eof] <

kfPF 7Ls} kfFP :ki6 

kfOg

43 1 6 86 2 12
!=@ s'g} l;kmfl/;sf] nflu nfUg] b:t'/ afx]s cltl/St /sdlbg' k¥of] 

<

lbPF yf]/} lbPF dfluPg 

lbOPg

0 0 50 0 0 100
!=# ToxfFaf6 lbg] l;kmfl/; ln+bf s;sf] ;xof]u lng'eof]< cfkm} dWo:ystf{ jf 

sfof{nos} 

JolQm

g]tf÷7"nf 

a8f dfG5]

50 0 0 100 0 0
!=$ Pp6f l;kmfl/; lngsf nflu slt k6s j8f sfof{nodf hfg'k¥of] 

<

Ps k6s b'O{ k6s w]/} k6s 

47 1 2 94 2 4
@ k"jf{wf/ tyf ;/;kmfO{ ;DaGwL 0 0 0
@=! gu/kflnsfsf] sfof{nodf ;/;kmfO{sf] cj:yf s:tf] 5 < /fd|f] 7Ls} v/fa

5 44 1 10 88 2
@=@  tkfO{sf] ljrf/df=g=kf= n] kmf]xf]/ Joj:yfkg ;DaGwL u/]sf] sfd 

s:tf] 5 < 

lgoldt / 

/fd|f] ;+u

7Ls} u5{ lgoldt 

?kdf 

ub}{g

6 31 13 12 62 26
@=# sfof{nodf ;/;kmfO{ ;DaGwL u'gf;f] ubf{ sltsf] ;'g'jfOP x'G5 < t '?Gt} x'G5 k6s k6s 

eg]kl5 dfq} 

x'G5

hlt 

eg]klg 

x'b}g

6 30 14 12 60 28
@=$ tkfO{sf] gu/kflnsfdf ljsf; lgdf{0fsf] l:ylt s:tf] 5 < /fd|f] l7s} v/fa

4 44 2 8 88 4
@=% gu/kflnsfn] ;~rfng u/]sf of]hgfx? slQsf] k|efjsf/L 5g\< k|efjsf/L 5g\ l7s} 5g\ k|efjsf/L 

5}gg\

8 37 5 16 74 10
@=^ of]hgfsf] lane'QmfgLlbg] Joj:yf s:tf] 5 < ;xh 7Ls} cK7]/f]

4 39 7 8 78 14
@=& of]hgfx? hfFrkf; ubf{ k|fljlwsx?nfO{ /sd lbg'k5{ < kb}{g dfu]/} lnG5g\ /sd 

glbP 

cK7\of/f] 

kf5{g

50 100 0 0
@=* hgk|ltlglw;+u ljsf; lgdf{0fsf af/]df hfgsf/L dfUbf kfpg'x'G5 

<

;lhn} kfOG5 ;f]w]kl5 

kffOG5

;f]w] klg 

kfOb}g

16 29 5 32 58 10



@=( of]hgf 5gf}6 ubf{ 6f]n e]nfsf af/]df ;"rgf kfpg] / ;xefuL x'g] 

ug'{ePsf] 5 < 

;"rgf kfP/ 

;xefuL 

ePsf] 5'

;"rgf kfPsf] 

5' ;xefuL 

ePsf] 5}g

;"rgf g} 

kfOb}g 

28 9 13 56 18 26
@=!) of]hgfdf pkef]Qmf ;ldlt u7g ubf{ e]nfsf af/]df sltsf] 

;"rgf kfpg] ug'{ePsf] 5 < 

;w}+ kfOG5 slxn] sfFxL 

kfG5

;"rgf g} 

kfOb}g

27 8 15 54 16 30
# Goflos ;ldlt;+u ;DalGwt 0 0 0
#=!  Goflos ;ldltsf af/]df tkfOnfO{ sltsf] yfxf 5< /fd|f];+u yfxf 

5

cln cln yfxf 

5

yfxf 5}g 

13 13 24 26 26 48
#=@ Goflos ;ldltaf6 lgZkIf ?kdf Gofo kfOG5 eGg]df sltsf] 

ljZj:t x'g'x'G5 < 

k"0f{ ljZj:t 7Ls} ljZj:t 

5}g

14 20 16 28 40 32
$ ljkt Joj:yfkg ;DaGwL 0 0 0
$=! gu/kflnsfn] ljkb Joj:yfkg tyf hnjfo' kl/jt{gsf c;/ 

Go"gLs/0fsf nflu s'g} of]hgf agfPsf] yfxf kfpg'ePsf] 5 <  

/fd|f] ;+u yfxf 

5

cln cln yfxf 

5

s]xL klg 

yfxf 5}g 

2 17 31 4 34 62
$=@ s'g} klg k|fs[lts ljkt\ -af9L klx/f], cfunfuL cfbL_ cfOkbf{ 

tTsfn gu/kflnsfdf s;/L ;Dks{ ug{] eGg] af/]df slQsf] yfxf 5 < 

/fd|f] ;+u yfxf 

5

cln cln yfxf 

5

s]xL klg 

yfxf 5}g 

2 23 25 4 46 50
% o'jf ;xeflutf 0 0 0
%=! gu/kflnsfn] ;~rfng ug{] of]hgf / gLlt lgdf{0f txsf 

5nkmndf o'jf ;xeflutf sltsf] x'g] u/]sf] 5 <  

x'g'kg{] hlt 

ePsf] 5

x'g'kg{] hlt 

ePsf] 5}g

slt klg 

;xeflutf 

5}g

7 23 20 14 46 40
%=@ gu/kflnsfn] agfpg] of]hgf / gLtLx? sltsf] o'jf d}qL 5g < o'jf d}qL 5g vf;} 5}gg slt klg 

5}gg 

6 29 15 12 58 30
^=vfw ÷ahf/ cg'udg 0 0 0
^=! gu/kflnsfn] ug{] ahf/ cg'udgk|lt s] eGg' x'G5 < x'g'kg{] hlt 

ePsf] 5 

l7s} 5 x'g'kg{] 

hlt 

ePsf] 5}g

4 27 19 8 54 38
^=@ s[lif If]qdf gu/kflnsfn]sf] of]hgf tyf sfo{qmd k|lt s] eGg' 

x'G5<

/fd|f] 5 l7s} 5 x'g'kg{] 

hlt 

ePsf] 5}g 

40 10 0 80 20 0


